H

o~ X R &

SEEERE

F =

H & 201523 A 18E(K) 11:40 BT 90% 5% FERRET A L2 Ba—F
x % 55 |[EvFRE AIE 2ERZ (Rl KEH JE] gwE | T
* = TOEETIS HIES TOEETIE |
Bl & TOEETIE ] Bl gE
V= — 1 " o 5 R %
) 4
BHHEX=B 9 — 0 EILKEB
KICK OFF | / i 0 I TKICK QFD |
X K a1—hk 5 . E| & |FE . =l a—Fh R
&5l 5| 90| 75| 60| 45| 30| 15| 5| = £ F A 5 & |& 2 F A m|st| 15[ 30| 45[60]75]|90] 4 |ES]
0 R B |16|GK]GK] 12 0
0 mIl fiE | 23[DF|DF| 3 0
0 #A % [18|DF|DF[ 23 0
0 KA B 5 |[DF|DF| 26 0
1:1 1 32 % X |[17|DF]DF]| 21 0
53 1 1 AR Wt |11 |MFIMF[ 15 1]1
1 1 53k #N |30|MFIMF[ 17 0
1:2i1 1 5[ 1 s F# | 24|MFMF[ 19 0
53 0 L B [ 19[MFIMF| 28 0
HT 1 1]2]1 hil #f#& [ 15|FWIMF] 13 0
1)1 1]3]1 BE4 22 |[FWFw]| 33 3[1:2 HT
19 0 ZHE J\i2 | 26| MF|FW| 20 1 1 33
11 0 JIIF BE | 27|MF
15 3i1i1 5[4 BEE 25|FW|
T LR 5 B B B B T & R 5
G EEES K % wE B G EEES K 4
£ A R-IES F—LEEH A | &
13 7 20 [ a—Fk][ 5 4 1
2 2 4 G K 10 3 7
4 5 9 C K 1 1 0
5 2 7 EHEFK | 13 2 11
3 3 6 | RIEFK]| 8 3 5
3 3 6 | @) | 8 3 5
0 0 0 P K 0 0 0
KEES

GEN) FTHAMFROEBF (I, FEI)—FvI08DIE. AT ARIZLHLDERL TN,

|||||

GRIGIEH] SUERELAT LA, S2ELRAIT A, S3DIEME, S45 AR IE(F) . S5:4F MR () | S6:4E5E. CSE&2E

B F—Ls Ba TR BEEB (~:RUT L. = F5HURKR, 1 FEH/IR, S:a—k, HiATALY)
8 BX | 15% sl #F [ 19: ®ub B -1 19 ~ — ifh-1i 15 i ERS

38 BX | 17F kB RX | 19: ®ub B H-1 19 1T ifh-1i 17 HS

55 Bk |22i BT AR B-11 24 P HBSHAFFP hub icEhsithsk-1i 22 P ERES

60 BX | 24F fhy =8 | 270 JIH BE ECKi 27 i 24 HS

61 BX |25 MA BF

75 BX [17: & ®&X -1 EFKE 17 i ERS

79 BX |25 EH BF |26: ZH /\iE H-11 26 1 idR-1i 25 HS

81 BX |25: WA BF |17: EFE RX th-2i 17 — ithf-1i 25 {HRES

82 BX |25 EE EF thg-1i 25 ~ 1ERES




